705 TE(T) QUESTION A
AT TIHR/Government of India
37aieT fa#meT/Department of Space

BOOKLET CODE
' [
i | izre
&9 AT WOUITelT Q‘u—c;!LlQUID PROPULSION SYSTEMS CENTRE

afegseT 9 31, fAFasdqRA/Valiamala PO, Thiruvananthapuram - 695 547

aEaiEe - @ (R) F 9§ F T g R e
WRITTEN TEST FOR SELECTION TO THE POST OF
TECHNICIAN — B (TURNER)

fesTiw/Date: 23.02.2020
ITadH 3ih/Maximum Marks: 300 TAATime: 2 Ge/hours

371527120t 1 ATA/Name of the Candidate: wAF/Roll No.:

angfial & faw sede/instructions to the Candidates

1. 3o foma #r qoand § vga nafdal & g qffae vd MUEIR 3R o Pt @ e &
ggaT dIfgT| / Candidates should read carefully the instructions in the Question booklet and OMR Answer
Sheet before start answering.

2. 3ife-erge e # eI qarr Ru av srer & 3R W RAf@a gfer § R gerr mr g ol
IS HEEST 7 Tod §9 # fGar § O e7 R faavs & 3R @ anfeya degar g & ar smadr
3sgf¥ar ¥ $r Swsh| / Candidates have been called for the written test based on the data furnished by
them in the on-line application. If you have wrongly entered in the application or you do not possess the
required qualification as per our advertisement, your candidature will be rejected.

3. qiie &7 F Aders & 3ufRAfy F & 99w FE/PRTE F gEaeR ST arievl / Candidates should

sign the Admit Card/Photograph only in the presence of the invigilator in the Examination Hall.

4. 9% 9 75 WAl § o U TR Fehele(GReaen) Al WRAT F IR & & AT e & U 3N0AIR
e f&ar smar &1/ The question paper is in the form of Question Booklet with 75 questions. A separate
OMR sheet is provided for answering the Questions.

F.9.3/P.T.O0



dTHANAIA-a (AT ) / TECHNICIAN-B (TURNER)

U Aehiie foraa Aot & sqex grar?
One Micrometer is equal to how much Nanometers?
(a) 10° (b) 10 e} 10® (d) 107

IfE T 7T T &%t 1447 cm” & @l 7Tt T 31| 20T

If the surface area of a sphere is 1447 cm? then the diameter of the sphere will be

(a) 6cm (b) 8cm (c) 9cm (d) 12 cm

8p° —2p—1=0, 3@ GO H ‘p’ HIAA B
The value of *p’ in the equation 8p> —2p —1=0 is
(@ 2

(6) by

4 (b) _% :%
(d) SWHHAFLTE / None of the above

-

=

M T 2.5 Kg o FWTH hY 55g 1, 20 et s o1 & SreT smar 2, 38 s o Frey & R R wma

m? (g = 10 m/sec?)
If an object of mass 2.5 Kg is freely dropped from a height of 20 meters then how much time will it
take to hit the ground (g = 10 m/sec?):

(a) 0.5 second (b) 1 second (c) 2 seconds (d) 4 seconds

PR i e 1Y e whie gt vare e 9, R 3 Sea e se veifa w1 §

Select the right sequence of cutting tool materials, in which they exhibit better hot hardness

(a) ise > HSS > e 39 Wit > e / Carbide > HSS > Carbon tool steel > Ceramics
(b) &t > Fmaise > HSS > el 390 & / Ceramics > Carbide > HSS > Carbon tool steel
(c) HSS > i > Freize > Hie 3y @ / HSS > Ceramics > Carbide > Carbon tool steel
(d) s ST Wit > wreize > HSS > RAR@E / Carbon tool steel > Carbide > HSS > Ceramics

R i, foran g wher & forerd, Frferfae aear o gam 129% e @

Stainless steels are alloy steels which essentially contains minimum 12% of the following element

(a) @M / Carbon (b) e /Nickel
() =W / Chromium (d) e / Cobalt
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8.

9.

e % arargeied (arfer), Frefafea Tt T2l

Annealing of steel does not provide the following result

(a) el I g SHMT S =41 GERAT / Softens steel and improves ductility
(b) U Sf3E ST S 3TN Wiee ol H T / Relieves internal stresses caused by previous process
(c) e eeu &I d@MT / Increases the hardness of steel

(d) I TR GARATS / Refines grain structure

SIS 1 G H ST dedl o1 &F W @

The major percentage of the element present in the composition of Inconel is

(@) @& /Iron
(c) T /Nickel

& CNC msfia #, A- gt it wftamar 3
In a CNC machine A- axis is defined as

(b)
(d)

(@) Xwyefiglt / Rotary axis about X (b)

(c) Zmegefiglt / Rotary Axis about Z (d)
10. CNC wurreft # G I} i el STl 8

In a CNC system G codes are known as

(a) WRfYHHE / Preparatory codes (b)

(c) srfafm=re / Auxiliary codes (d)

M= / Aluminium
iftE| / Chromium

Y s guft gt / Rotary Axis about Y
39Uk § & i 781 / None of the above

fafeg e / Miscellaneous codes
it i€ / Geometry codes

11. I 1 3991 el &

Plug gauge is used for

(2)
(®)
©
(d)

3t ST 19 % fAT / Measuring inside dimension
STel 379 |19 % T / Measuring outside dimension
Taftes SR 3 ge & ffT. / Comparing inside dimension
el 37T <61 ol & fIT. / Comparing outside dimension

12.  a=aar et 3 weiifin & o7 3 o o1 yer 27
What type of Rake angle is suitable for machining ductile material?

(@)
(b)
(©
(d)

HeRITcHe | GTcHe (& S0 / Positive rake angle

TeRIIcH /FUTTcHe (& =i / Negative rake angle
Y& &I / Zero rake angle
3T # @ 1 T / None of the above

705 TE(T)



13.

14.

15.

16.

17.

18.

Fefofea § @ = a1 H7ge fre 27

H7g6 is which of the following fit

(a) Tt fe / Clearance fit (b) &89 f%e / Interference fit
(c) ufEddf%e / Transition fit (d) @F=a e / Shrink fit

ﬁw%%aﬁﬁﬁq—mnmm,aﬁ(@a)ﬁ,mﬁammaﬂmw%%qzﬁa%?
Which of the following measuring instrument is best suited to precisely measure an undercut
diameter in a bore

(a) TETES Hef / Inside caliper

(b) 3Tl e FefiR S / Internal dial caliper gauge
(c) TEUE (%) A% / Depth micrometer
(d) fasTEER / Two leg micrometer

Forferfie & #-a, 1SO 7 % 31ER, wh OD 2ffm 3 9 27
Which one of the following is an OD turning tool shank as per ISO Standard?

(a) CNMG120402 (b) PCLNR2525M12
(c) A20S-SCLCR09 (d) CCMT090402

SR 1 391 e oy 5 e e 8 o e v e e g s ey e
21 39 YR <l s o) e B

When the tool wear takes place by the action of sliding chips against its top surface of the tool and
thus creating a concave impression on it. This type of wear is known as

(a) == / Nose wear (b) i forET$ / Flank wear
(c) et fommg / Crater wear (d) foee 39T / Built-up edge
Torer i % it @ vt 3 <t s S 27

Which method is used for making internal taper thread?

() oW fie we archt Tl / Swiveling compound slide method
(b) A Wi R RAfY / Tail stock offset method

(c) 2w eRnveme R / Taper turning attachment method

(d) IwEaH / All the above

afe Vv grT sifiress o @, wagt e (Ra) 1 arfers T, Aefifea § @ S ard?
Which one of the following is the actual range of surface finish (Ra), if it is expressed by v

(@) <0.025 micrometer (b) 8-25 micrometer
(c) 0.025 - 1.6 micrometer (d) 1.6 - 0.8 micrometer
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19.

20.

2L

22.

1 Ru e Tk @10 mm 3 e ST H, X o TR T F Y

In a twist drill @10 mm shown below. What is the approximate value of X7?

SegareH & forg / For calculation :

tan 39°=0.81

tan 49°=1.15

tan 59°=1.66

tan 69°=2.61

@ X=15 ) X=13 © x=4 @  x=6

T 72 T Gyu U (360°) W TR rreft Siam v, o e @ g 10 mm @ g Fa g asa
T 87

A nut on the double start threaded shaft rotates at one complete revolution (360°) and it moves
10 mm distance. Which one of the following is correct?

(2) f==10 mm, #fe =20 mm /Pitch = 10 mm, lead =20 mm
(b) T =2.5mm,<€=5mm /Pitch=2.5 mm, lead=5 mm
(¢) o =10mm,<f€=15mm /Pitch =10 mm, lead = 15 mm
(d) frer=5mm,&€=10mm /Pitch=5 mm, lead =10 mm

16 = weet, fireT 73w, T 39 1 3 T T, 3R 4 o v, T B 3, G ok IH S <A ofT| 9 ST S
ST HRR?

16 years ago, Father’s age was 3 times the age of his Son and 4 years ago, Father’s age was double
the age of his son. What is the present age of the Son?

(a) 16 years (b) 18 years (c) 28 years (d) 30 years

IR e woTTet 3 arrast wef @ Y IMA 3 stfvers foren ST @ Sftt anwferss wefi T st AMA | st
T T 2, a1 worett <t i ST % TR 7|

If Ideal Mechanical Advantage is expressed as IMA and Actual Mechanical Advantage is expressed
as AMA of a system then the Mechanical Efficiency of the system is equal to

(a) (IMA-AMA)/2 (b) IMA/AMA

(¢) - AMA/IMA (d IMA+AMA

6 705 TE(T)



23.

24,

25.

fferiaa # @ == @1 qdia o yago 87

Which one of the following is a third angle projection?

o £ v O

T Tl HehiHtet (mm A9 3 fre) <t suaiT sheeh, 2 o =g v o = o1 | gt 21 < e 3ii
SR Afem o B | soe o sarg R R Y

Diameter of a shaft is measured after turning, using an outside micrometer (for mm measurement).
Given below is the thimble and barrel reading. What is the diameter of the shaft?

o

0 -] s

Livekinnde
trreetrennen

b}

IIIItII ||III||

-
o

(a) 11.05mm (b) 11.95mm () 11.55mm (d) 11.45 mm

3 cm =l e % o, 31 SR W @2 om % Juw % TIAU sraves Terae SusHl ) STavasRdT &7 e T

cmi g

Which of the following supporting accessories is required for drilling @2 cm at the right end side
for a depth of 3 cm?

ALL DIMENSIONS ARE IN CM

i i
IO e dsic _;.OL—'“*Q%:B‘
b2l
30,0 50.0
150,0
(@) IR / Follower rest (b) I /Steady rest
(c) %= /Half center (d) UEIFER / Pipe centre

7 705 TE(T)



26.

27.

28.

29.

30.

31.

Frafaiiad 9 & SHA-91, HET wege 1 3= T A1 JHT SATa17

Which of the following is not considered as a good property of cutting fluid?
(a) 3= w1 aTEsh &9/ High heat carrying capacity

(b) T wiwfeEg /Low flash point

(c) I R M % fore s ek / Non-corrosive to work and machine

(d) T=vaFar / Low viscosity

Frafafaa o @ FH-91, T JSTR A ad A8 2 ¢

Which is essentially not an element of a fixture?

(a) 3T ORigYish acd / Tool guiding element

(b) whiendeE / Locating element
(c) =AM aE / Clamping element
(d) Te=Ia 39 / Power devices

1.5 mm T it L =t 57 & Torg ok T vy § v T R 3 w1 3w e st 21 afd g ey,
ufehfora o | 5 Sy 1 8, 9 TSR i

A simple gear train is used in a centre lathe to machine a thread of pitch 1.5 mm. If the driver gear
is having 5 teeth lesser than that of the calculated value, then the pitch of the produced thread

(a) =1.5mm (b) <1.5mm
(c) >1.5mm (d) «R-dfitsgm / will increase gradually

T 10 m T B, THBRA 7 m % SR W A 319 7 m 3R 6 kg 1 R T84 o Tl 2 dl, TEI BN
e B Toha R 1 T8 Tkl 87

A 10 m long rod rests on a fulcrum at 7 m from one end. How much mass can the rod support at
other end, if the 7 m end support 6 kg.

(@) 18/7kg (b) 18kg (©) 14kg (d)  6kg

T ¥fie A 8.3 cm x 6.5 cm 8, 579 IHR! AT foHAT ST A SHeh TRATOT 0.25 O w7 el 2| &t H g
EARGIRSHIELRS

A sheet metal is 8.3 cm x 6.5 cm, when heated its dimensions increases by 0.25 times. Find the
increase in area.

(@ 20.35cm? (b) 30.35 cm? ()  36.35cm? (d)  21.58cm’
T 2 cm UIYE 3 T4 1 Squl Hae) & g

The total surface area of a cube of side 2 cm will be

(@ 8cm? (b) 16 cm? (c) 24cm? (d) 32 cm?

8 705 TE(T)



32.

33.

34,

35.

36.

37.

38.

e 5 & @ T arg 7 27
Which of the following is not a metal?

(a) IegmEE / Aluminium (b) 9 /Mercury
(c) UMIEE / Graphite (d) @ / Bronze

CNC #afii % for, fFrferaia # & #i—ar wd 781 87

Which one of the following is not true for CNC machines?

(a) SIfeeT ThTSet ST < G & / Complicated profiles can be done
(b) = SRERAT / High repeatability

(c) FHU-3FTETT / Less setup time

(d) 3= 3crEskar / High productivity

THYLE AT9H 39Tt ok fmtor 3 fora aifesa gt 2

Preferable material for manufacturing precision measuring instruments

(@ %9 /Invar (b) = /Kovar

() A EI / Stainless steel (d) @ear@rEr / Cast Iron

T SR hierat Y afypea % SO Bt B

Accuracy of a Vernier caliper is equal to

(@) =gAaw fet / Least count (b) =AW P2 / Least count/2

() =ga| /4 / Least count/4 (d) SYUFHHFRETE / None of the above

=1 § Sl -, Tre SyeRt T 87

Which one is not a measuring instrument?

(a) = HfAR / Vernier caliper (b) TEUE AFIHR / Depth micrometer
(c) @&« / Steel rule (d) IETHAR / 0dd leg caliper

-3 " 1 FHEOE ghE Em

Hardness of lap shoe material will always be

(a) = wrft & I & St / Higher than the hardness of work material

(b) % Ut % FI9 A FA / Lower than the hardness of work material

(c) o wft & ST F 5K / Equal to the hardness of work material

(d) el gt & F39 & ki Heiw 78 / No relation to the hardness of work material

Frferfiaa & & A-an, fueh werar 27
Which one among the following is a bilateral tolerance

+0.08 0.0 +0.08 -0.08
(a) i 25—0,08 (b) 25—0.08 (C) 250,0 (d) 25-—0.03

9 705 TE(T)



39.

40.

41.

42.

43.

44.

45.

20H7 % 37T &, H % 14

In a dimension of 20H7, H stands for

(@ @erdE /Tolerance grade (b) e fa=ed /Main deviation

(c) W AR / Basic size (d) =itferes fo=@ / Fundamental deviation

frerferfiaa o & v gt 3 aefifin o for, itereh % &9 1 geeiier det i 9EE Tel R St e ¢ o
Y

For machining, one of the following materials, soluble oil as a coolant is not preferred, which is the
material?

(a) U3 /Mild steel (b) ¥frem fzrerg / Titanium alloys
(c) 3w / Inconel (d) @t / Cast iron

2f e #, i ife S B

Unit of cutting speed in turning operation is

(@ mm/" / mm/revolution (b) TH/fFE /Revolution/minute
(¢) m/fFe / m/minute (d) Fui/ER=T / Revolution/hour

frerferfiaa & & s -an -urafes qehf w27

Which one of the following is a non-conventional machining process?
(a) 5 uEhE CNC Rifgm /5 axis CNC milling

(b) T SAFRYA / Trepanning operation

(c) Fx-fea s @M / Center-less Grinding operation

(d) EDM fR¥= / EDM operation

ISO e 3 ST, AR T 37T 1 18 VBMT 160408 2, Tt 3ifet < 3k ‘08" o id &
As per ISO standard, if a tool name is VBMT160408, then the last two digit ‘08 denotes

(a) TAfegsAerr / Thickness of the insert

(b) Ffee= == B / Nose radius of the insert

(c) Tfe=iE = / Rake angle of the insert

(d) fafers o Fekmedt T / Clearance angle of the insert

7t 71 T & GE A % Ay S ) wenia e &

Agreement of the result with the true value of the measured quantity is called
(a) WRaiar / Repeatability (b) uRsIEdT/ Accuracy

(c) @& / Tolerance (d) Tutefar / Precision

T & 9 T e, o € e & ww kY w27

Which of the following threads resist force only in one direction
(a) BA=E /BA thread (b) BSP=S /BSP thread
(c) udumsget / ACME thread (d) 2wl / Buttress thread

10 705 TE(T)



46.

47.

48.

49.

50.

S1.

32.

e ST ht S| 3hTS ®

The SI unit of Torque is

(a) Kg/m (b) kgm (c)  N-m (d) N/m
A 2x -3y -7 =02 3x -7y +2 = 0 A PR & & Ba-wad 27

If 2x =3y -7 =0 and 3x — 7y + 2 = 0, then which one of the following is right
@ x=7,y=3 b) x=1l,y=5

(C) x=6,y=3 (d) =P, y=5

M T 3 om SR =1 3R 6 cm =TS % 31 Yich 1 el U 3 om =T ¥ S e ST ST Ay, e
) TTeTs o B e

If a solid cone of base diameter 3 cm and height 6 cm is melted down to form a solid cylinder of
diameter 3 cm then what will be the length of the cylinder

(a 3cm (b) 6cm (¢ 2cm (d) 9cm
afa ook fire 37 o1 e (3ge) firem, aneege fie @ siften aw spf aman 2, @ Frr s e

If the input gear of a gear train rotates faster than the output gear, then the gear train is called

(a) T wemaTe / speed reducer (b) Tfd sgMaTE / speed enhancer
(c) Tfasie / speed breaker (d) SHEHIRE AL / None of the above

T Sig- Rt <t 8, forr e s e

In a multi-start thread, the pitch can be found by
(a) diie/yrt @& / Lead / Number of starts
(b) <fie x UR¥i e /Lead x Number of starts

(c) fts+ @@ / Lead + Number of starts
(d) wR¥t @@/t / No of starts / lead

e § & -, S o Yrsareh & weiftr 78 37

Which one among the following is not related to the thread terminology?

(@ = /Pitch (b) @IS /Margin
(¢) W= /Flank (d) & /Root
IR HeX Ay F sk e 61 s aar &

Back gear in a conventional centre lathe is used for

(a) kel 7id 51E % fTT / Reducing spindle speed

(b)  ehell TTid SiGM % fTT / Increasing spindle speed

(c) el shi fewm s@ o 7T / Direction changing of spindle
(d) WEsgM % T / Increasing feed

11 705 TE(T)
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a3,

54.

.

56.

7

58.

59.

60.

61.

T4 8 form, snfirdg s =1 <oy Brer ) sravasar 78 27

Which one of the geometric dimensions does not require a datum feature?

(a) UY@ifET / Parallelism (b) wREEFERE / Perpendicularity
(c) W3R /Runout (d) I / Flatness

T o W1 o SR H, g % ek o1 {aTenred (39) R shior ot R s 27

In a shop floor drawing, metal components are hatched at what angle?

(a) 30° (b) 45° (c) 60° (d  90°
T ©IZ% o Hae a8 i FIAT UM H13 1 61 3 e 2

The process of hardening only on the surface of a component is known as

(a) 3T / Annealing (b) ¥R / Tempering

(c) FHEEMT / Case hardening (d) e / Normalizing

10H7 =19 % B3 & {ff % fore, 89 & srem=g

For reaming 10H7 diameter hole, allowance of the hole shall be

(a) 0.02mm (b) 0.2mm (c) 1mm (d) 2 mm
TIG e &, wfwa (shfeen) wrt % frw -t g w1 weiv fer smar 2

In TIG welding, which gas is used for shielding purpose?

(@) ¥ERg / Oxygen (b) U / Acetylene
(c) WM /Argon (d) ©ESA /Hydrogen

eh g Y H, ek ot o ek oo 3, et g0 1 gl oy et e

In a centre lathe, distance moved by the tool in one revolution of the work piece is known as
(a RPM (b) fe@fa / Spindle speed

(c) = / Cutting speed (d) e /Feed

o1 3R g o1 Sreali e A -ar 87

Which is the best conductor of heat and electricity?

(@) WA / Tungsten (b) ket /Nickel
(c) diar / Copper (d) =T / Silver

foreferitaa & & -, Reifires gams i, wie o sraamom W smaia 27

Which of the following is an industrial casting process which is based on lost wax concept?

(a) SIS / Sand casting (b) G / Die casting

(c) TS (WTER) GTs / Plaster casting (d) FORHIFAR / Investment casting
M (=) o afequiar it wfsrn 3

Honing is a process of finishing ‘

(a) wRI=E /Outer diameter (b) H<ENW /Inside diameter

(¢) wureHaE! /Flat surfaces (d) Fveeier @l (39) / Helical grooves

12 705 TE(T)



62.

63.

64.

65.

66.

67.

68.

T U AT 3Gk oS hi TS i U ST TeaT 3R SHTRE HIeh & et 92 oh1 Wi e &

The process in which accuracy of an instrument or piece of equipment is compared with a known
and proven standard is called

(a) 37meRA / Calibration (b) fagur / Inspection
(c) WerdEREr / Documentation (d) g / Maintenance

g || 519 st %1 39T BT @

Grade II slip gauge is used in

(a) TR (Y=TeTF) TR FHIMT / Workshop by operator
(b) A HE / Calibration purpose

(c) sifaw e / Final inspection

(d) STEHYE T / None of the above

T 'r’ o o o O Wt 3 T U @° ST IV ST B, Y 39 Ve F i ol s 1 g
A sector in a circle of radius ‘r’ makes an angle o° at the centre, then what will be the length of the
arc of that sector

(a) mrxal/360 (b) 2mrxal/360 () 3mrxal/360 (d) 4mr x o /360

FrafoRaa & & forad wedt =i de @?
Which of the following consists of multi start thread

(@) %A1 ¢ Wish M / Tailstock shaft of centre lathe
(b) FETAFASHR / Lead screw of centre lathe

(c) w8 Y™ /Fly press
(d) IWFHAFETE / None of the above

SIS BT 12 1 3T Fora ST B, | 30 S vy & R s W e sar &7

Follower rest when used, it is mounted on which part of the centre lathe

(@) 9% /Bed (b) S /Carriage
(c) wyAsreE / Apron box (d) @R / Tool post
LCIsicau| ht far 8
Anodizing is a process of
(a) =% faioa / Zine coating (b) TR fa@w / Tin coating
(c) reyffEm faew / Aluminium coating  (d) i Reio= / Gold coating
TNl 1 ShTaiA hl /T @ ok el 1ot o GHTAT

Increase of carbon content in steel results in
(a) Yggar® %4 / Reduction in strength (b) weRaTH i /Increase in hardness
(c) HEged H3fE / Increase in strength (d) d=a@HaE / Increase in ductility

13 705 TE(T)



69.

70.

71.

72.

73.

74.

73

W 25 km S 5 61 3 & Herd) T HR, I 7 THUEl H 60 km ST £ 3T AT UhST © | ST hT el

fopamm 87

A car moving at velocity of 25 kmph and picks up to a velocity of 60 kmph in next 7 seconds. What
is the acceleration of the car

(a 1.39 m/sec’ (b) 5 m/sec’
() 1.79 m/sec’ (d 7 m/sec’
s T (faer) e S o O (3fae) = 1 em ® 37 Feiiereh ) g oS = 50cm | 3Tk Sl

T 5 kgf T el ST ST @ S 1100 kg T R ISTT & | 3Toh! G&TalT 1 87

A simple screw jack having pitch =1 cm and effective length of the lever = 50cm. A force of 5 kef
is applied on its lever and it lifts a load of 1 100 kg. What is it efficiency?

@) 80% (b) 70% ) 60% @  50%
sﬁﬁﬁq—m,éﬂxﬁmﬁwﬁg@w&(ﬁ)mmmé?

Which among the following is the most precise work holding device in a lathe?

(a) dH e / Three jaw chuck (b) HEwE /Face plate

(c) wHiaie@ / Collets (d) =i / Driving plate
3= e T # e oY wferera @ 87

What is the percentage of carbon in high carbon steel

(a) 0.08%to 0.2% (b) 0.5%to 1%

() 4%1t06.7% (d) 6.7%to 10%

g T W g s Fatse o (T 7T SO st 3w e 81 e 8 @ frw amft 6, s
TP T SHTIT ST TRl & ¢

A carbide tipped tool with yellow marking is used on a lathe. Which one of the following materials
can be best machined with this tool?

(a) e iy arg / Aluminium alloy  (b) wored € / Stainless steel
(c) ¥ (@eidt) gt wrer / Gray cast iron (d) daa /Brass

T CNC e &, desd firg R s1gem g o1 e ol foran S @ 9 et @

In a CNC program, the reference point with respect to which movement of the tools written is
known as

(a) @Y /Machine zero (b) & AwHE / Tool offset

(c) HEYA / Work zero (d) T HF / Turret centre
70mmaxm‘q?raaqmﬂ;r&m(m)ﬁwmﬁu@ﬁmﬁmﬁqwm%lwﬁmﬁﬁm
ATl GHE HaTe gl o STiehan A @

A cylindrical rod of diameter 70 mm has to be machined as hexagon by milling operation. The
maximum value of across flat distance that can be achieved in the hexagon

(a) 65.4mm (b) 50.2mm ¢ 60.6mm  (d 64.8mm

14 705 TE(T)




